MATH 1113
Fall 2004 – Test 3

NAME___________________________________________________________
Show all work. Explain your answers. Use complete sentences. You may NOT use a calculator on this part of the test.
1. (7 points) Write 
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 in terms of 
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 when 
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is in quadrant III.

2. (7 points) Prove the following identity: 
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3. (7 points) Sketch: 
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4. (7 points) Sketch: 
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5. (16 points) Evaluate:
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6. (7 points) The point 
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 is on the unit circle. This point corresponds to some angle t. Find all trigonometric ratios of t.

7. (7 points) Suppose 
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[image: image12.wmf]0

tan

<

q

. Find all trigonometric ratios of 
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8. (7 points) Find the quadrant in which 
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 lies if 
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9. (7 points) Is the point 
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 on the unit circle?
10. (7 points) Find the sign of the expression 
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 if t is in quadrant III.
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11. (7 points) Solve the triangle: 
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12. (7 points) Solve the triangle: 
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13. (7 points) Solve the triangle: 
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